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1. Arbitrage and speculation 

 

Definition  1.1.  Arbitrage  refers  to  market  transactions  that,  taking  advantage  of  price  differences, 

generate a sure profit. 

 

Definition  1.2.  Speculation  is  the  same  as  arbitrage with  the  only difference  that  transactions do not 

guarantee a sure profit. 

 

Whereas  a  speculator  is  taking  a  risk,  an  arbitrageur  obtains  a  risk‐free  profit. Almost  nothing  lies 

outside  the  scope of arbitration and  speculation:  commodities, bonds,  currencies,  shares, options,  real 

estate, derivatives, futures contracts… 

 

2. The discount factor 

 

Definition 2.1. The discount factor (between periods ݐ	and ݐ	൅	1) expresses the value in period of ݐ of one 

monetary unit of period ݐ	൅	1. 

 

Whereas the interest rate transforms today’s money into tomorrow’s money (1 today is 1	൅	݅ tomorrow), 

the  discount  factor  does  the  opposite  by  transforming  tomorrow’s money  into  today’s money.  The 

discount factor ߜ determines present values out of future values. 

 

    		ݐ        	1	൅	ݐ  	 	 	 	 The discount factor makes 1 become ߜ. This ߜ is the value in period ݐ that, 	

                                when the interest rate between ݐ	and ݐ	൅	1 is ݅, becomes 1 in period ݐ	൅	1. 

1 1	൅	݅           By the rule of three, ߜ ൌ	1൉1/ሺ1	൅	݅ሻ	ൌ	1/ሺ1	൅	݅ሻ is the discount factor, which	

  ߜ             1             depends on the interest rate ݅. This leads to a more precise definition of ߜ. 

 

Definition 2.2. The discount factor ߜ between periods ݐ	and ݐ	൅	1, when ݅ is the interest rate between ݐ		

and ݐ	൅	1, is 
 

δ ൌ
1

1 ൅ ݅
				. 

 

 

3. Interest rate and asset prices 

 

Proposition 3.1. The price of a financial asset and the nominal interest rate move in opposite directions. 

 

Since the interest can be interpreted as the price of money (the cost of a loan), Proposition 4.1 asserts that 

the price of financial assets and the price of money move in opposite directions. 

 

Example 3.2. Proposition 3.1 will be illustrated for the case in which the financial asset is a T‐bill. The T‐

bill is issued in period ݐ and matures in ݐ	൅	1. The price of the T‐bill in ݐ, when issued, is ܲ. The face value 

of  the T‐bill  is ܸ, which means  that,  in   ,1	൅	ݐ the T‐bill pays ܸ  to  the owner of  the T‐bill. Let  ݅ be  the 

interest rate between ݐ	and ݐ	൅	1, so ݅ represents the profit of making a loan with the same maturity as the 

T‐bill. An investor having ܲ monetary units may consider two options. 
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 Option 1: lend ܲ. When the loan matures, in ݐ	൅	1, the investor gets ሺ1	൅	݅ሻ	൉	ܲ. 
 

 Option 2: buy the T‐bill. When the T‐bill matures, in ݐ	൅	1, the investor gets ܸ. 
 

For both options to be equally attractive, the outcomes must coincide ሺ1	൅	݅ሻ	൉	ܲ	ൌ	ܸ. That is, 
 

ܲ ൌ
ܸ

1 ൅ ݅
				.																																																																																ሺ1ሻ 

 

Since ܸ is a fixed given value, ሺ1ሻ means that the larger ݅, the smaller ܲ. 

 

4. Financial arbitrage 

 

Definition 4.1. Arbitrage consists of making purchases and sales that ensure a sure profit. 

 

Under financial arbitrage, an arbitrageur buys and sells financial assets to obtain a sure profit. It will be 

next argued that financial arbitrage justifies the inverse relationship between the price of a T‐bill and the 

interest rate established by ሺ1ሻ. To this end, suppose ሺ1ሻ is false; that is, 	ܸ	൐	ሺ1	൅	݅ሻ	൉	ܲ	or ܸ	൏	ሺ1	൅	݅ሻ	൉	ܲ. 

Only the former possibility is handled, the latter being left as an exercise. The economic logic of the proof 

relies on the  idea that arbitrage opportunities (the possibility of making sure profits) cannot  last. Thus, 

outcomes that create arbitrage opportunities cannot be stable nor be taken as good economic predictions. 

Specifically, the proof will show that: 
 

(i) ܸ	൐	ሺ1	൅	݅ሻ	൉	ܲ creates arbitrage opportunities; and that 
 

(ii) the act of profiting from arbitrage opportunities make such opportunities disappear. 

 

So let ܸ	൐	ሺ1	൅	݅ሻ	൉	ܲ. An arbitrageur can obtain sure profits as follows, even having no money. 

 

   Step  1:  the  arbitrageur  borrows	 ܲ monetary units  in  	ݐ and,  consequently,  has  to  repay  ሺ1	 ൅	 ݅ሻ	 ൉	 ܲ 

monetary units in ݐ	൅	1. 
 

   Step 2: the arbitrageur purchases in ݐ a T‐bill with the	ܲ monetary units. 
 

   Step  3:  reached period  	ݐ ൅	 1,  the T‐bill pays ܸ monetary units  and,  owing  to ܸ	൐	 ሺ1	 ൅	 ݅ሻ	 ൉	 ܲ,  the 

arbitrageur repays the loan and pockets a profit of ܸ		ሺ1	൅	݅ሻ	൉	ܲ	൐	0 monetary units. 
 

It  is  very  likely  that  many 

arbitrageurs will be attracted by 

the  prospect  of  sure  benefits. 

Hence,  significant  amounts  of 

money will be borrowed in step 

1.  Assuming  the  market  for 

loans and the market  for T‐bills 

to be  competitive  (a  reasonable 

assumption  for  financial 

markets),  the  borrowing  of 
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money by arbitrageurs will shift the demand for loans to the right. As depicted in the figure above (left‐

hand side), an expanding demand  for  loans causes a  rise  in  the  interest  rate  ݅. On  the other hand,  the 

purchases of T‐bills executed in step 2, shifts to the right that demand for T‐bills (see the right‐hand side 

of the figure). This shift leads to an increase in the price ܲ of T‐bills. With both ݅ and ܲ	going up, ሺ1	൅	݅ሻ	൉	

ܲ also goes up. The result is that ܸ		ሺ1	൅	݅ሻ	൉	ܲ diminishes. Arbitrageurs will borrow money and buy T‐

bills until  the  gap  between  values ܸ	 and	 ሺ1	 ൅	 ݅ሻ൉	 ܲ  is decreases until ܸ	ൌ	 ሺ1	 ൅	 ݅ሻ	 ൉	 ܲ,  in which  case 

arbitrage opportunities vanish. This  reasoning proves ܸ	൐	 ሺ1	൅	 ݅ሻ	 ൉	ܲ  to be  inconsistent with  financial 

arbitrage. A similar reasoning shows the incompatibility of ܸ	൏	ሺ1	൅	݅ሻ	with financial arbitrage. 

 

 

5. Prices of assets as present values 

 

The concept of present value also justifies ሺ1ሻ. In fact, the value in ݐ	൅	1 (the future value) of the T‐bill is 

ܸ. With interest rate ݅ between ݐ and ݐ	൅	1, the value of ܸ in ݐ (its present discounted value) is 

ܸ ൉
1

1 ൅ ݅
 

 

where  
ଵ

ଵା௜
  is the discount factor between ݐ and ݐ	൅	1. In view of this, equation ሺ1ሻ states that the price of 

a T‐bill coincides with the present discounted value of its face (future) value. 

 

 

6. Equalization of rates of return 
 

A  third  justification of  ሺ1ሻ  comes  from  the presumption of  the equalization of  the  interest  rates of all 

financial assets. A  justification for this presumption  is that,  if the equalization does not occur, financial 

assets with  a  smaller  rate of  return would have no demand  and,  consequently,  they would not  exist. 

Given  that many  financial assets exist,  their rates of return should be  the same. The  interest rate  ்݅-௕௜௟௟ 

implicit in (associated with or corresponding to) a T‐bill is 

 

்݅-௕௜௟௟ ൌ
ܸ െ ܲ
ܲ

	. 

 

Letting ݅ represent the interest rate of a loan, the equalization condition ݅ ൌ ்݅-௕௜௟௟ leads to 

 

݅ ൌ ்݅-௕௜௟௟ ൌ
ܸ െ ܲ
ܲ

ൌ
ܸ
ܲ
െ 1 

 

or, equivalently, 

1 ൅ ݅ ൌ
ܸ
ܲ
	. 

 

Solving for ܲ yields equation ሺ1ሻ.  

                    

7. Spatial arbitrage 

 

Definition 7.1. Spatial arbitrage exploits price differences in different locations. 
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Example  7.2.  Suppose  ݁௅ ൌ 2	$/€	in  London  and  ݁ே ൌ 3	$/€  in  New  York;  see  the  figure  next.  An 

arbitrageur would buy euros where they are ‘cheap’ (in London, where buying €1  just takes $2) to sell 

them were they are ‘expensive’ (in NY, where you need $3 to get €1). The sequence  
 

€1 sold in NY  $3 sold in L  €1.5 
 
generates a sure profit of €0.5 per euro (a 50% profit rate). 

The cycle may be continued: €1  $3  €1.5 
  $4.5   €2.25   $6.75   €3.375  … 
These transactions eventually alter prices. 

 

 By buying euros in London, ܦ€ shifts to the 
right and ݁ in London: the euro appreciates 
where  it  is “cheap” (right‐hand of the figure 

on the left). 

 

 By selling euros in New York, arbitrageurs 

shift  ܵ€  to  the  right  in New York,  so  ݁  in 
New York	: the euro depreciates where it is ‘expensive’ (left‐hand side of the figure on the left). 

 

Summing up, ݁௅ ൌ 2	$/€ rises and ݁ே ൌ 3	$/€. Eventually (even in minutes), both prices will converge to 

some value between ݁ ൌ	2 and ݁ ൌ	3. Reached that value, spatial arbitrage is no longer be possible and, 

as a result, the exchange rate in both markets, in New York and in London, will coincide. 

 

 

8. Triangular (or triangle) arbitrage 

 

Definition  8.1.  Triangular  arbitrage  takes  advantage  of  price  imbalances  involving  at  least  three 

currencies to obtain a sure profit by buying/selling the three currencies. 
 

Example  8.2.  Let  exchange  rates  be 

2	$/€, 3 ¥/$, and 4 ¥/€; see the figure 

on  the  left.  Triangular  arbitrage  can 

only occur if the product of two rates 

is  not  equal  to  the  third  one  (the 

product  of  the  three  rates  is 

meaningful  if  one  currency  cancels 

out). The product 3 ¥/$ ൉ 4 ¥/€ is not 

meaningful,  as  no  currency  cancels 

out. By  taking  the  inverse 
ଵ

ଷ
 $/¥ of 3 

¥/$  a meaningful  product  obtains: 
ଵ

ଷ
 

$/¥ ൉ 	4 ¥/€ ൌ ସ

ଷ
$/€ ് 2	$/€. 

 

This means that there are arbitrage opportunities. There are six exchange sequences: 
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ሺ1ሻ  €  $  ¥                       ሺ2ሻ	 €  ¥  $                             ሺ3ሻ  $  €  ¥ 
ሺ4ሻ	  $  ¥  €                    	 ሺ5ሻ  ¥  $  €                             ሺ6ሻ  ¥  €  $. 

 
But  ሺ1ሻ  is  equivalent  to  both  ሺ3ሻ  and  ሺ5ሻ  because  all 
generate the cycle €  $  ¥  €. And ሺ2ሻ, ሺ4ሻ, and ሺ6ሻ are 
equivalent because all generate the cycle €  ¥  $  €. As 
a  a  consequence,  there  are  two ways  of  trying  to  exploit 

price differences,  represented by  the  two exchange  cycles  shown  just above. One  the  cycles generates 

profits; the other, losses. The right‐hand cycle produces a loss: €1  ¥4  $4/3  €2/3. The left‐hand 

one yields a profit: €1  $2  ¥6  €1.5. As noticed, 
$

¥
൉ 	
¥

€
൏

$

€
  : going directly  from $  to €  is more 

profitable than going indirectly through ¥. The step ‘€1  $2’ makes the dollar appreciate: $/€ falls. The 
step ‘$2  ¥6’ makes the yen appreciate: $/¥ rises. The step ‘¥6  €1.5’ makes the euro appreciate: ¥/€ 
rises. Thus the gap between going directly or indirectly between any two currencies tends to close. 

 

 

9. How to become a millionaire in one day 
 

Example  9.1.  Let  ݁ ൌ 2	$/€  today  and  suppose  I  expect  ݁′ ൌ 1.9	$/€  tomorrow.  Imagine  that  the 

overnight (daily) interest rate is 3‰. If my expectation is correct, I can become a millionaire tomorrow.  

 

This is the recipe. I ask for a loan of, say, €100 million. Tomorrow I will have to return this amount plus 

€300,000. With my €100 million, and given the exchange rate ݁ ൌ 2	$/€, I purchase $200 million. I could 

lend those dollars for a day, but since the day has been hard enough I just wait for tomorrow. 

 

Tomorrow  comes  and  I  am  right.  I  then  sell  the  $200  million  at  the  rate  ݁′ ൌ 1.9	$/€  and  get 

€105,263,157 (the additional cents, left as a tip). I next repay my €100 million debt plus the loan interest 

of €300,000. And I finally search for a fiscal paradise that would welcome my remaining €4,963,157… 
 

What if I am wrong and, for instance, ݁′ ൌ 2.1	$/€? Then I have a little problem, since, at the rate ݁′, I can 

only obtain €95,238,095.23 from my $200 million. That means that I incur a big loss. 

 

Definition 9.2. Short‐selling consists of (i) borrowing some good or financial asset to (ii) sell it, expecting 

to make a profit by  (iii) buying  the good or asset  later, when  it  is  time  to  return  it  to  the  lender, at a 

smaller price (so the short‐seller expects to make a profit from a price decline). 

 

Definition 9.3. Going long is the strategy opposite to short‐selling: an asset is bought expecting that its 

price will rise. 

 

Example 9.1 illustrates short selling: I assumed a debt in euros because I expected a depreciation of the 

euro. Hence, by purchasing dollars, I expected to obtain next more euros for the same dollars, so that the 

debt could be repaid with cheaper euros. 

 

Remark  9.4. To  limit market  volatility,  some  restrictions  to  short  selling were  imposed  in  September 

2008. In fact, short selling is capable of triggering currency crises. 
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10. Currency market intervention by the central bank ሺCBሻ 
 

Let ݁′ be the fixed exchange rate, with the CB instructed by the government to sustain that value. Imagine 

that the exchange rate in the market is actually ݁ ൏ ݁′; see point ܽ in Fig. 1. Having ݁′ as a fixed exchange 

rate means  that  the CB must  intervene  to place  the market equilibrium along  the horizontal  line with 

value ݁′. The problem is that, at point ܽ, the market does not value the euro as the government intends. 

The solution is to demand more euros to rise its value. 

 

It may appear that the CB may either shift ܵ€ to reach point ܾ or shift ܦ€ to reach point ܿ. The first option 

is not available, since the CB cannot force a reduction  in the supply of euros. What the CB can do  is to 

expand the demand for euros. Thus, to reach value ݁′ from point ܽ, the CB must demand enough euros to 

shift the market demand function from ܦ€ to ܦ′€. But the purchase of euros to rise the value from ݁ to ݁′ 

must be paid  in dollars. Accordingly,  in passing  from ܽ  to ܿ,  the CB spends dollars. Obviously,  to sell 

dollars the CB must have them (or arrange a dollar loan, in general granted by other CBs). 
 

          

 Fig. 1. CB intervention when the currency is undervalued               Fig. 2. Trying to avoid a currency crisis 

 

 

11. Currency crises and speculative attacks 

 

Definition  11.1  (imprecise). A  currency  crisis  typically  arises when  a  fixed  exchange  rate  cannot  be 

defended, that is, achieved through central bank intervention in the currency market. 

 

What if market participants believe that a given exchange rate cannot be defended? They will probably 

engage in short‐selling: expecting the euro to lose value, they will ask for loans in euros, and buy dollars 

with  them. This shifts ܵ€  to  the right, so  the euro  loses value. And here  it  is a self‐fulfilling prophecy: 

what agents do in response to what they expect to occur contributes to cause what they expect to occur. 

 

Example 11.2. Fig. 2 represents the events that hasten a currency crises. The fixed exchange rate is ݁′ and 

the market  is  initially  at  point  0.  A  speculative  attack  unfolds  through  a massive  sale  of  euros,  to 

repurchase them later cheaper, at a smaller rate. This attack shifts ܵ€ from ܵ€
଴	 to ܵ€

ଵ, moving the market 

equilibrium from point 0 to point 1. To defend the fixed rate, the central bank reacts by selling dollars, 

shifting ܦ€ from ܦ€
଴ to ܦ€

ଵ. Market equilibrium then moves from 1 to 1′.  
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Excursus 11.3. A priori, a currency  is equally  likely to appreciate or depreciate. In this respect, mounting a 

speculative attack without further information is a 50-50 bet, which does not look promising for a speculator. 

Moreover, in this case, some speculators may bet that the currency is going to depreciate and others that it is 

going to appreciate, so the two attacks may cancel each other or, in any event, may make the defense of the 

fixed rate easier. Therefore, to ignite a speculative attack some reason must point to a specific unidirectional 

and  persistent modification  in  the  exchange  rate.  There must  be  some  objective  feature  of  the  economy 

creating  a  tendency  for  the  currency  to  either  appreciate  or  depreciate.  That  feature will  coordinate  all 

speculators to bet in only one direction: either all believe that an appreciation will occur or all believe that it 

will be a depreciation. Accordingly, a speculative attack  is most  likely  to be conducted  for some objective 

reason whose effects on the currency the attack exacerbates. It is worth noticing as well that it is easier for the 

central bank  to  fight a speculative attack based on  the bet  that  the currency  is going  to appreciate:  in  that 

case,  to sustain  the  fixed exchange rate,  the CB needs only  to sell what  it owns  in abundance, namely,  the 

domestic  currency.  Consequently,  the  archetypal  currency  crisis will  arise when  a  speculative  attack  is 

launched  against  the  currency  because  some  feature  in  the  economy  automatically  leads  the  currency  to 

depreciate (for instance, a domestic inflation rate higher than the inflation rate in the rest of the world). 

 

Example 11.2 (continued). A second attack shifts ܵ€ from ܵ€
ଵ to ܵ€

ଶ, reaching point 2. If the central bank 

still has  enough dollar  reserves,  equilibrium may be moved  to 2′.  If not,  the  attack  is  successful  and 

market equilibrium  remains at 2:  the attack has been  successful and has  led  to a  sharp decline  in  the 

exchange  rate.  In  this  case,  the  government  accepts  the  new  exchange  and  devaluates  the  currency 

(reduces the fixed exchange rate). 

 

Example 11.4. A famous, successful speculative attack. Took place on the 16th of September, 1992: the 

Black Wednesday. On  that  date, George  Soros  became  famous  for  forcing  the  British  government  to 

withdraw from the European Exchange Rate Mechanism (a fixed exchange rate agreement, predecessor 

of the euro). Soros made a gain of over $1 billion by short selling pound sterlings. Newspapers revealed 

that the British Treasury spent £27 billion trying to sustain the value of the pound. 

 

 

12. Rodrik’s trilemma 

 

Definition  12.1.  The  term  ‘globalization’  refers  to  the  process  and 

consequences of  the opening up of domestic markets  (from both  the real 

and the financial sector) to the international markets. 

 

Definition  12.2. Rodrik’s  fundamental political  trilemma of  the world 

economy (tension between national democracy and global markets); see 

the  left  figure.  “We  cannot  have  hyperglobalization,  democracy,  and 

national self‐determination all at once … If we want hyperglobalization 

and democracy, we need to give up on the nation state. If we must keep 

the  nation  state  and want  hyperglobalization  too,  then we must  forget 

about democracy. And if we want to combine democracy with the nation 

state,  then  it  is  bye‐bye  deep  globalization.”  Dani  Rodrik  ሺ2011ሻ:  The 

globalization paradox: democracy and the future of the world economy. 

There are three options to handle the tension between national democracy 
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and global markets that the trilemma expresses. “We can restrict democracy in the interest of minimizing 

international transaction costs, disregarding the economic and social whiplash that the global economy 

occasionally  produces. We  can  limit  globalization,  in  the  hope  of  building  democratic  legitimacy  at 

home. Or we  can globalize democracy,  at  the  cost  of national  sovereignty.” Dani Rodrik  ሺ2011ሻ: The 

globalization paradox. 

 

 Option 1. The Golden Straightjacket. Hyperglobalization means that national borders do not interfere 

at all with the circulation of goods, services, and capital. If a nation state becomes hyperglobalized, then 

domestic regulations and taxes must be consistent with the requirements of hyperglobalization and,  in 

particular, with ensuring that the domestic economy remains attractive to, and earns the confidence of, 

international investors and traders. Therefore, domestic policy must be subordinated to comply with the 

conditions of economic globalization by adopting such policies as: 
 
 a strict monetary policy (‘tight money’); 

 “flexible” labour markets; 

 deregulation, privatization, and minimize public intervention (‘small government’); 

 keep taxes (particularly, capital and corporate taxes) low; 

 maintain the economy sufficiently open to the rest of the world (‘open borders’). 
 

When this set of policies  is adopted  it  is said that the nation state wears The Golden Straightjacket on. 

The government putting on  this  jacket  is  free  from domestic  (economic or  social) obligations or  cons‐

traints. The requirements of the global economy dictate the domestic policy. Signs of wearing the jacket: 
 

 economic policy‐making  institutions  (central banks, market  regulators)  turn  ‘independent’  from 

democratic control; 

 social insurance is reduced (privatized); 

 corporate taxes and the top income taxes lowered; and  

 policy goals are subordinated to keep market confidence. 

 

  Option  2.  Bretton Woods  compromise  (‘thin’  version  of  globalization).  This  compromise  merely 

implies a reduced international discipline: each nation state enjoys sufficient freedom to pursue domestic 

goals,  like development  levels,  as  long  as  restrictions  on  capital  flows  are  implemented.  Since nation 

states can follow their own paths of development, domestic differences can be maintained and enlarged. 

 

 Option  3. Global governance. The global governance  option  involves  removing  the nation  state  in 

order to have democratic policies and hyperglobalization. This option amounts to relocating politics to 

the global level, in the sense that rule making becomes supranational (the European Union is a regional 

example). The difficulties with  option  3  emerge  from  the possibility  that  there  is  too much diversity 

among nation states to make global federalism a practical option. 

 

Rodrik (One economics, many recipes: globalization, institutions, and economic growth, 2007, p. 43) claims that 

“Sustaining growth  is more difficult  than  igniting  it”. A generalization of  this observation  is  that  it  is 

harder for an economy to remain in a (non‐spontaneous) state than to achieve it. Globalization seems to 

illustrate  this  generalization: more  effort  is  necessary  for  an  economy  to  remain  globalized  than  to 

become globalized. Argentina  in  the mid‐1990s become hyperglobalized very quickly, but  the  cost of 

maintaining that state turned out to be unsustainable and led to the catastrophic crisis of 2001. 
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13. PPP and commercial arbitrage 
 

Definition 13.1. Commercial arbitrage consists of buying goods where they are cheap and selling them 

where they are expensive. 
 

In the absence of transportation costs, PPP can be justified by commercial arbitrage. 
 

Example 13.2. Suppose that only one good can be traded between Euroland and the US: Macroeconomic 

textbooks. The price of a  textbook  in  the US  is ݌* ൌ	$100;  in Euroland, ݌ ൌ	€50. Letting ݁	ൌ	4	$/€,  the 

price in dollars of a Euroland textbook is 4	$/€	൉	€50	ൌ	$200. Consequently, textbooks are cheap in the 

US. Commercial arbitrageurs would proceed as shown in Fig. 3 (it is assumed that textbooks can be sent 

from one economy to the other at no transport cost). 
 

US textbook market                           EU textbook market                        currency market 
 

$/textbook                      €/textbook                       $/€ 

 

 

	100                                  	*݌  	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 4		 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 			݁ 

                                                           50	                                   ݌ 

 

                                                                                  

 

 

 

 

         Fig. 3. Commerical arbitrage and purchasing power parity 

 

   If  the arbitrageur  is an American,  then he or she will buy  textbooks  in  the US  to subsequently ship 

them to Euroland; once sold there, euros are converted into dollars. 
 

   If the arbitrageur is a European, then he or she will first convert euros are converted into dollars, buy 

textbooks in the US to finally ship them to Euroland and sell them there. 
 

The purchase of books in the US tends to rise ݌*. The sale of those books in Euroland make ݌ fall. More 

dollars demanded lower ݁. Initially, 4൉50	ൌ ݁ ൉ ݌ ൐ ݁ ,100. By arbitrage	ൌ *݌ ൉  tends *݌ tends to fall and ݌

to rise. Eventually, ݁ ൉ ݌ ൌ  . ݌/*݌ This condition stops arbitrage and makes ݁ reach the PPP value .*݌

 

 

14. Relative purchasing power parity	
 

Definition  14.1. Relative purchasing power parity,  the dynamic  version  of  the  (absolute) purchasing 

power parity, holds that the exchange rate moves to neutralize inflation differentials. Concretely, define  

the rate of appreciation of the exchange rate between two currencies as ݁̂ ൌ ௘	ି	௘షభ
௘షభ

, where ݁ is the current 

ܵ€ 

ܵ′€ 
 €ܦ

textbooks textbooks 

€	

ܵ୙ୗ 

ܵ୉୙ 
 ୙ୗܦ

 ୙ୗ′ܦ

 ୉୙ܦ

ܵ′୉୙ 

=Americans buy textbooks in US   = sell them in EU   = and convert € in to $ 

=Europeans convert € into $   = buy textbooks in US   = and sell them in EU	

	

	
	

 ݌ ∙	݁

 *݌
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value of  the exchange  rate and ݁ିଵ  is  its value  in  the  immediately preceding period. Let ߨ denote  the 

domestic inflation rate, and ߨ* the foreign inflation rate, between these two periods. The exact version of 

the parity is given by ሺ2ሻ, whereas its common formulation, an approximation of ሺ2ሻ, is given by ሺ3ሻ. 
 

1 ൅ ݁̂ ൌ
1 ൅ ∗ߨ

1 ൅ ߨ
																																																																																				ሺ2ሻ 

 

݁̂	ൎ  ߨ*    ߨ                                                                 	ሺ3ሻ 
 

If the euro is the domestic currency, the dollar is the foreign currency, and the units of ݁ are $/€, then ሺ3ሻ 

asserts that the rate of appreciation of the euro is approximately equal to the difference between the US 

inflation rate and the European inflation rate.  
 

Example 14.2. Suppose	ߨ* ൌ	5% and ߨ ൌ	25%. Then, by ሺ3ሻ, ݁̂	ൎ	5		25	ൌ	20%: the euro must depreciate 

by 20% to compensate for the fact that European prices grow 20 points faster than American prices. 
   

Remark 14.3. Absolute PPP implies relative PPP but not vice versa. In fact, if absolute PPP holds, then ሺ2ሻ	

can be obtained as follows. 

1 ൅ ݁̂ ൌ 1 ൅
݁	 െ	݁ିଵ
݁ିଵ

ൌ 1 ൅
݁	
݁ିଵ

െ 1 ൌ
݁
݁ିଵ

ൌ

ܲ∗
ܲ∗ିଵ
ܲ
ܲି ଵ

ൌ

ܲ∗
ܲ

ܲ∗ିଵ
ܲି ଵ

ൌ
1 ൅ ܲ∗

ܲ െ 1

1 ൅ ܲ∗ିଵ
ܲି ଵ

െ 1
ൌ
1 ൅ ∗ߨ

1 ൅ ߨ
 

 

 

15. The uncovered interest rate parity	
 

Definition  15.1.  The  uncovered  interest  rate  parity  establishes  a  relationship  between  the  domestic 

interest rate ݅, the foreign interest rate ݅*, and the expected rate of appreciation ݁̂௘ ൌ ௘೐	ି	௘

௘
 of the domestic 

currency with respect to the foreign currency. The exact version of the uncovered interest rate parity is 

given by ሺ4ሻ, whereas its usual formulation is given by ሺ5ሻ (taxes are expressed in per one terms). 
 

݁̂௘ ൌ
݅∗ െ ݅
1 ൅ ݅

																																																																																								ሺ4ሻ 
 

݁̂௘	ൎ	 ݅*				݅			 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 			ሺ5ሻ 
 

Equation ሺ4ሻ can be justified by the equality of returns from investing domestically and investing abroad. 

Specifically, suppose an investor has €1 to lend in period ݐ and the loan is repaid in ݐ	൅	1. The domestic 

interest rate between ݐ and ݐ	൅	1 is ݅. The foreign interest rate between ݐ and ݐ	൅	1 is ݅*. The exchange rate 

in ݐ is ݁ $/€. The investor faces at least the following two options; see Fig. 4.  
 
 

                                          time ݐ                                                           time ݐ	൅	1	
 

                                  lend €1 at home                                                       €ሺ1	൅ ݅ሻ 

€1	

                    lend €1 abroad            exchange for $݁		 	 	 	 	 		$ሺ1	൅ ݅*ሻ൉݁								 	 			€ሺ1	൅ ݅*ሻ	൉ 
 

Fig. 4. Justification of the uncovered interest rate parity 

 

 Option 1. To lend the euro at home in ݐ. In this case, in ݐ	൅	1, the investor receives	€ሺ1	൅ ݅ሻ.  

݁
݁௘

 

PPP	



Introduction to macroeconomics ǀ 11. Arbitrage and speculation  ǀ 28 March 2019  ǀ  11 
 

 

 Option 2. To lend the euro abroad in ݐ. This option involves exchanging the euro for ݁ dollars (since the 
exchange  rate  is  ݁  $/€)  in order  to next  lend  the  ݁ dollars  abroad. As  a  result,  in  	൅	ݐ 1,  the  investor 

receives	 $ሺ1	൅  ݅*ሻ൉݁.  If,  in   ,ݐ the  investor expects  the exchange  rate  in   1	൅	ݐ to be ݁݁,  then  the  investor 

expects to obtain €ሺ1	൅ ݅*ሻ൉݁/݁݁. 
 

The  presumption  that  both  options  produce  the  same  result  implies  that  1	 ൅  ݅	 ൌ	 ሺ1	 ൅  ݅*ሻ൉ ௘
௘೐
	 or, 

equivalently, 
௘

௘೐
൉	ሺ1	൅ ݅ሻ	ൌ	1	൅ ݅*,	which is equivalent to ቀ1 ൅ ௘

௘೐
െ 1ቁ ൉	ሺ1	൅ ݅ሻ	ൌ	1	൅ ݅*. That is, ሺ1	൅ ݁̂௘) ∙ ሺ1	

൅ ݅ሻ	ൌ	1	൅ ݅*. Therefore, 1	൅ ݁̂௘	൅ ݅	൅	 ݁̂௘∙	݅ ൌ	1	൅ ݅*. Solving for ݁̂௘ leads to ሺ4ሻ. The approximation ሺ5ሻ of 

ሺ4ሻ follows if ݅ is small enough. For sufficiently small ݅, 1	൅ ݅	ൎ ݅ and consequently ሺ5ሻ approximates ሺ4ሻ. 
 

An  interpretation  of  ሺ5ሻ  is  as  follows.  Suppose  the  foreign  interest  rate  ݅*  abroad  is  larger  than  the 

domestic interest rate ݅. This means that ݅*		݅	൐	0. The interest parity condition ሺ5ሻ contends that, in this 
case, an appreciation of the domestic currency should be expected: ݁̂௘ ൐	0 (which means that ݁݁	൐	݁). This 

appreciation  is  required  to  compensate  for  the  fact  that  investing abroad  is,  in  terms of  interest  rates, 

more profitable.  In other words,  the higher  return obtained by  investing  abroad  is  reduced by a  loss 

when converting the foreign currency back into the domestic currency, so that the net result is the same 

as if investment had been at home. 

 

Remark 15.2. The term “uncovered” refers to the fact that ݁݁  is an expectation, not an actual value: the 

option of investing abroad is not covered against the risk of predicting the exchange rate wrongly. 

 

If the domestic interest is higher than the foreign interest, ݅*		݅	൏	0, then what ሺ5ሻ demands is to expect a 

depreciation of the domestic currency: ݁̂௘ ൏	0 (that is, ݁݁	൏	݁). 
 

Example 15.3. Suppose ݅	ൌ	5% and ݅*	ൌ	25%. Then, by ሺ5ሻ , it must be that ݁̂௘ ൎ	݅*		݅	ൌ	0.25		0.05	ൌ	0.2	ൌ	
20%: the expectation should be that domestic currency will appreciate by 20%. Using the exact version 

ሺ4ሻ of the  interest parity,  ݁̂௘ൌ	௜
∗ି	௜

ଵ	ା	௜
	ൌ	଴.ଶହ	ି	଴.଴ହ

ଵ.଴ହ
ൌ 	 ଴.ଶ଴

ଵ.଴ହ
ൌ ଶ଴

ଵ଴ହ
ൌ ସ

ହଵ
	ൎ	0.238	ൌ	23.8%.	Since 5%  is not a small 

value for the domestic interest, ሺ5ሻ	and ሺ5ሻ	differ significantly. 
 

Remark 15.4. If parities ሺ3ሻ and ሺ5ሻ hold, and if expectations are correct,  ݁̂	ൎ  ߨ*   ߨ,  ݁̂௘	ൎ	 ݅*	 		 	݅, and  
݁̂௘ ൌ ݁̂. Hence,  ߨ*  ߨ ൎ ݅∗		݅: the inflation differential between countries reflects the interest differential. 


